Z330M - ZTRAK

PC16405

Grass Mulch Control Kit, 54A inch - ST1073162
Apr 19 2024

l
i 10 15 "
13 :

PU51695

Copyright © 2024 Deere & Company. All Rights Reserved. Page 1 of 3



Z330M - ZTRAK

PC16405

Grass Mulch Control Kit, 54A inch - ST1073162

Apr 19 2024

KEY PART NO. PART NAME QTY REMARKS
1 BUC10706 Grass Mulch Control Kit 1

2 AUC14726 Deflector 1

3 UC18596 Bolt 7

4 uC21506 Push Nut 2

5 AUC14712 Grass Mulch Control Kit Deflector 1

6 ucC18483 Discharge Control Deflector 1

7 ucC18482 Grass MulchControl™ Deflector 1 Control Gate
8 AUC14708 Mulch Control Handle 1

9 14M7397 Hexagonal Lock Nut, M6 1 M6

10 uc19768 Handle 1

11 03M7232 Round Head Square Neck Bolt, M6 X 25 1 M6 X 25
12 F2948R Grip 1

13 M111583 Retainer Plug 4

14 uc20127 Bracket 1

15 M177791 Mulch Blade for 54-inch Mower Deck 3

16 M172795 Mulch Control Label 1

17 03M7184 Round Head Square Neck Bolt, M8 X 20 1 M8 X 20

Copyright © 2024 Deere & Company. All Rights Reserved.

Page 2 of 3




KEY PART NO. PART NAME QTY REMARKS
18 AUC14619 Grass Mulch Controller Shaft 1
19 14M7396 Hexagonal Lock Nut, M8 9 M8

Copyright © 2024 Deere & Company. All Rights Reserved.

Page 3 of 3




